

### National Framework Agreement for Rigid and Semi Rigid Endoscopes 2022

\* In order to purchase this equipment via the NHS Supply Chain framework agreement please contact a member of the Team for a unique order reference number.

The unique order reference number should be quoted on the purchase order raised with NHSSC at the following address:

Supply Chain Coordination Ltd West Way Cotes Park Industrial Estate Alfreton Derbyshire DE55 4QJ

Please email your purchase order to Business Solutions Admin at:business.solutions.admin@supplychain.nhs.uk

This quote will only be valid if ordered direct via NHS Supply Chain

### **NHS Supply Chain Contact Details**

James McLaughlin Assistant Buyer **Mobile:** (0113) 385 4870 **Email:** james.mclaughlin2@supplychain.nhs.uk



#### Pricing Schedule

Modality:	Rigid Endoscopy
Supplier Name:	Stryker UK Limited
Trust Name:	St Helens and Knowsley Teaching Hospitals NHS Trust
Hospital Name:	
Department:	
Date:	11/01/2023
Supplier Quotation Reference:	

The price is based on a commitment deal via the Department of Health Capital Equipment Trading Fund and as such has limited availability. Once all goods are sold from the particular commitment deal, pricing will revert as per the standard framework agreement not withstanding any prices quoted on this quotation.

**Quote Valid Until:** 

THIS QUOTE IS VALID UNTIL 11/04/2023 OR UNTIL ALL STOCK IS EXHAUSTED, WHICHEVER DATE IS SOONER.

Sub-Category	System Number	System Name	Product Code	Warranty (in months)	Qty
Additional Items		BULK DEAL STRYKER PINPOINT	BULK DEAL STRYKER PINPOINT		1
Additional Items		BULK DEAL STRYKER SPY	BULK DEAL STRYKER SPY		1

Final Invoice Price ex VAT	
£73,428.07	
Final Invoice Cost inc VAT	

£88,113.68

Trust Saving (From standard Framework price (Exc. VAT)

£30,737.41

**Additional Information** 

TRADE-IN VALUE OFFERED BY THE SUPPLIER	TRADE-IN INFORMATION FOR THE TRUST
	Discounts for trade-in systems offered by the supplier are not included in the overall quote value, this is listed as a separate value as per the box to the left. To take advantage of their offer you must raise an invoice to the supplier directly for the value of the trade-in which will be dealt with outside of NHS Supply Chain.



## **Indicative Residual Value Lease Costs**

Trust Name:<br/>Department:St Helens and Knowsley Teaching Hospitals NHS TrustCapital Cost:£73,428.07 excluding VAT

#### Payment Profile: Quarterly in Advance

Lease Term Rate per £000	Implicit Interest Rate	Period Payment (excl. VAT)	No of payments	Total payable over life of lease	RV%
--------------------------	---------------------------	-------------------------------	----------------	-------------------------------------	-----

#### Payment Profile: Annually in Advance

Lease Term Rate per £000	Implicit Interest Rate	Period Payment (excl. VAT)	No of payments	Total payable over life of lease	RV%
--------------------------	---------------------------	-------------------------------	----------------	-------------------------------------	-----

Please Note: This does not constitute a live lease rental quotation. The Residual value (RV%) and lease rate are for indicative purposes only, however a full lease tender exercise will yield a tailored quotation summary of live bids for the lease arrangement.

These indicative lease costs include an arrangement fee of 1% of the capital cost capped at £5,000 that is charged to the successful lessor. We operate a value add framework to facilitate medical equipment procurement and there will be no additional retainer fees required or contractual obligation to utilise the NHS Supply Chain Leasing Solutions Framework. The trust will not receive any invoices from NHS-SC for use of the framework.

If the equipment being leased is part of an NHS SC Bulk Buy then the capital cost will be slightly different than if it was purchased outright. This is due to the parties involved being in different VAT divisions.

To pursue a full lease tender or for any other leasing queries please contact Leasing@supplychain.nhs.uk



## **Indicative Non-Residual Lease Costs**

#### Payment Profile: Quarterly in Advance

Lease Term	Rate per £000	Implicit Interest Rate	Period Payment (excl. VAT)	No of payments	Total payable over life of lease	RV%
3 Years (36 Months)	£90.33	5.25%	£6,632.76	12	£79,593.09	0.0
5 Years (60 Months)	£57.65	5.76%	£4,233.13	20	£84,662.56	0.0
7 Years (72 Months)	£41.01	6.2%	£3,011.29	28	£84,315.98	0.0

#### Payment Profile: Annually in Advance

Lease Term	Rate per £000	Interest Rate	Period Payment (excl. VAT)	No of payments	Total payable over life of lease	RV%
3 Years (36 Months)	£354.03	5.25%	£25,995.74	4	£103,982.96	0.0
5 Years (60 Months)	£225.23	5.76%	£16,538.20	5	£82,691.02	0.0
7 Years (72 Months)	£160.58	6.2%	£11,791.08	7	£82,537.56	0.0

Please Note: This does not constitute a live lease rental quotation. The Residual value (RV%) and lease rate are for indicative purposes only, however a full lease tender exercise will yield a tailored quotation summary of live bids for the lease arrangement.

These indicative lease costs include an arrangement fee of 1% of the capital cost capped at £5,000 that is charged to the successful lessor. We operate a value add framework to facilitate medical equipment procurement and there will be no additional retainer fees required or contractual obligation to utilise the NHS Supply Chain Leasing Solutions Framework. The trust will not receive any invoices from NHS-SC for use of the framework.

To pursue a full lease tender or for any other leasing queries please contact Leasing@supplychain.nhs.uk

# **Contractual Terms & Conditions**

Please note that any provided quotation for the cost of the supply of any goods and services under the National Framework Agreement shall not constitute an offer. Subject to Framework Agreement terms and conditions, a contract between you and NHS Supply Chain shall only come into existence when NHS Supply Chain issues a written acceptance of your Order in the form of a Unique Reference Number.

This quotation is valid on the date that it is provided to the customer and is subject to change until the point NHSSC accepts the order from the customer, or alternatively, if the requirement or scope of the order changes after the point of acceptance. NHS Supply Chain will confirm any changes to the quote or price directly to the trust.